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a) Hypotenuse

b) Side opposite the marked angle

¢) Side adjacent to the marked angle
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3. Which primary trigonometric ratio can you use to calculate the length of

each indicated side?

a) C b) 103 ft.
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6. Use trigonometric ratios and the Pythagorean Theorem to solve each

triangle.
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8. The Skylon Tower in Niagara Falls is about 160 m high. From a certain
distance, Frankie measures the angle of elevation to the top of the tower to
be 65°. Then he walks another 20 m away from the tower in the same direction
and measures the angle of elevation again. Use primary trigonometric ratios

to determine the measure of the new angle of elevation.

>

1680 m

A 65
20m B D

e = el @) o ¢ x)

8:54 AM
9/9/2014

o |B= S0



=] MAPAC ex 1.4.1.JPG - Windows Photo Viewer - O
File v Print ¥ E-mail  Bum ¥ Open ¥ 9‘

8. Could you use the Sine Law to determine the length of side a in each

triangle? If not, explain why not.

a) A b) <) B
5.4 ¢m
a
B
ch 60°\
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